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[Pascal kR 7 ] [Visual Basic kg 7~ |
const MAXFLOOR = 60; const MAXFLOOR As Integer = 60
LIFTTOTAL = 4; const LIFTTOTAL As Integer = 4
[C W] * [Java B 5]
#define MAXFLOOR 60 static final int MAXFLOOR = 60;
$define LIFTTOTAL 4 static final int LIFTTOTAL = 4;
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[Pascal R 7 ]

type arraytype = array[0..99] of string([6];
procedure ReadData ( (a)(i) B )

var i : integer;
infile : text;
begin

assign(infile, 'club.txt');
reset (infile) ;
i :=0;

(a)(i) &

close(infile);

end;
[C R
void ReadData ( (@)@) &8 ) |
int 1i;

FILE *infile;
infile = fopen("club.txt", "r");
i = 0;

(a)(ii) #B

fclose(infile);

}

[Visual Basic kg 7~ ]

Sub ReadData ( (a)(i) & l)
Dim i As Integer
Dim infile As IO.StreamReader
Dim item As String
infile= IO.File.OpenText ("club.txt")
i=0
item = infile.ReadLine()

(a)(ii) &R

infile.Close()
End Sub

RRERUNNER > B TFHFHE -

2012-DSE-ICT 2D-10 69

2

{UAR - M SFZE TR

°



{HAR - M FET 6T

&

°

[Java RR 75 ]

public static void ReadData ( (a)() =R ) throws IOException ({

int 1i;
String item;
BufferedReader infile =

new BufferedReader (new FileReader ("club.txt")):;

i = 0;
item = infile.readLine();

(a)(ii) &R

infile.close();

}
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belongsto (sports, union).
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belongsto (music, union).

FLEE (chess) 2 BNE A S

belongsto (chess, union).

xEfy (art) PHBNELG

belongsto(art, union).

RE (flue) HERERLEE

belongsto(flute, music).

EHEE (oboe) HBN F 2 g

belongsto (oboe, music).
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belongsto (basketball, sports).
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group (X) : - belongsto (X, Y) & club(Y).
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